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Information

® The total mark for this paper is 80

® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

® Read each guestion carefully before you start to answer it.

® Keep an eye on the time.

® Try to answer every question.

® Check your answers if you have time at the end.

Turn over »

S48571A *S48571A0120%*

©2015 Pearson Education Ltd.
6/4/717171416/6/6/6/

Pearson Edexcel Level |/Level 2 GCSE (9-1) in Mathematics - Sample Assessment Materials (SAMs) - Issue 2 - June 2015
© Pearson Education Limited 2015



PhysicsAndMathsTutor.com

Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1 Write the following numbers in order of size.
Start with the smallest number.

0.61 0.1 0.16 0.106

(Total for Question 1 is 1 mark)

2 Write 0.037 as a fraction.

©0.037 x1000 >
—_— = 37
| 000
e 1000.........

(Total for Question 2 is 1 mark)

3 Write down the 20th odd number.

[+3:S17 oand on ad On
Ti Sequnca fof add aombws is 20
So 2(z0)-1 iS 29" odd Aumbts.
= Yo-I =ﬂ ..........................................
- (Total for Question 3 is 1 mark)
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4 A
4 Write down all the factors of 20
| X 20 =20
2 w10 =20 So feckors el 1,1, 45,1020
(Total for Question 4 is 2 marks)
5 Tanya needs to buy chocolate bars for all the children in Year 7
Each of the 130 children get one chocolate bar.
There are 8 chocolate bars in each packet.
Work out the least number of packets of chocolate bars that Tanya needs to buy.
| X130 =130 Chocolakes
OIl6 .25
22 = fLioas =S
So 17 packets needed o Grey con onky by & wholk nmbear of packsls-
_—
7.
(Total for Question 5 is 3 marks)
6 Greg rolls a fair ordinary dice once.
(i) On the probability scale, mark with a cross (X) the probability that the dice will land
on an odd number. @, IR |@\‘I- .@. € > 3/6 ore odd = '/L
| I I X I I |
0 1 1
2
(if) On the probability scale, mark with a cross (X) the probability that the dice will land
on a number less than 5 ( [, 2,3, "3' S, 6 L& mombtrS less fhan S
6
| I I | X I
0 1/¢ 2/6 1.3 we Ry =6/6
/ / 53 /6
(Total for Question 6 is 2 marks)
\ >y
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7 One day Sally earned £60
She worked for 8 hours.

Work out Sally’s hourly rate of pay.

<

(o) 60 3o _ 1S _
€¢ =_K_a_'.:_.__.z_-é%S' pv hout

(Total for Question 7 is 2 marks)

8 Work out 15% of 80

106.\* = YO <o

éwc 0.\ ¥
0. = ]
O T2

=2 =

.

1O\ 4+ S\ = IS\
R+ 4 = 1%

—
—

N

(Total for Question 8 is 2 marks)

9 There are 3 red beads and 1 blue bead in a jar.

A bead is taken at random from the jar.

What is the probability that the bead is blue?
3+ =4 totod beadls .
1is blw So lé -

(Total for Question 9 is 1 mark)

10 There are only black pens and green pens in a box.

The ratio of the number of black pens in the box to the number of green pens in the box

iIs2:5

What fraction of the pens are black?
Totd paits > 2. +5 =7

2 palts arce Slack — 2[7

§

(Total for Question 10 is 1 mark)
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11 Sally has three tiles.

Each tile has a different number on it.
Sally puts the three tiles down to make a number.
Each number is made with all three tiles.

How many different numbers can Sally make?

(an onlb

Con bt GRS ¢ one of be last
of 3 Cards er;@

Cards
2 % z x |

(Total for Question 11 is 2 marks)
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12 Here are the first three patterns in a sequence.
The patterns are made from triangles and rectangles.

pattern number pattern number 2 pattern number 3

(@) How many triangles are there in pattern number 7?

¢ \Y{_l](? o SequmeiS 3einy U in 2 seo 2n.
H"'L numby before 6 wondd bt t se _—.1'\4-"- .
28 +4 = 2D =1F L S
(2)
Charlie says

“There are 4 rectangles in pattern number 3 so there will be 8 rectangles in pattern number 6”

(b) Is Charlie right?
Give a reason for your answer.

So Unarlie is incoffect. (1)
(Total for Question 12 is 3 marks)

Pearson Edexcel Level |/Level 2 GCSE (9-1) in Mathematics - Sample Assessment Materials (SAMs) - Issue 2 - June
2015 © Pearson Education Limited 2015

VIV SIHLNEFLIIMION-Od VA4V SIHL NEFLIGM LON-Od

VAV SIHL NEFLIEM LON-Od



DO NOFWRITE IN THISSAREA DO NOT WRITE IN:THIS AREA

DONOT WRITEANTHISSAREA

PhysicsAndMathsTutor.com

13 Paul organised an event for a charity.

Each ticket for the event cost £19.95
Paul sold 395 tickets.

Paul paid costs of £6000
He gave all money left to the charity.

(a) Work out an estimate for the amount of money Paul gave to the charity.

Mo made fom Kdabs —» ¢ 19,95 X 343
—= ¢ 20.00 X 00 = {(§o00o

Costs €6000
ay o chariby —> (8000 —¢ 6000 = €2000

So mo

(b) Is your answer to (a) an underestimate or an overestimate?
Give a reason for your answer.

1)

(Total for Question 13 is 4 marks)

/
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14 The table shows information about the numbers of fruit trees in an orchard.
Apple tree Pear tree Plum tree
45 20 25
(2) The pictogram shows this information. ~ Use plum €ree ko wolk out.
Complete the key for the pictogram. S A —’—5" =A S=
avptetree | /N /N/NNINANINININ T key: /N rpresents S trees
peartree | /\ /\ /N /\
umee | A A/ /\
(1)
(b) There are 90 fruit trees in the orchard.
Apple tree Pear tree Plum tree
45 20 25
i s informat Pear Lrees 22 =%
Draw an accurate pie chart for this information. el cfes = 30 = ?
Apple treas —-’)‘—;BS:'/Z = 720 _0°
9
l/2 x 360°= |30°
Plum ren
7
3%0° -(130%) + (80*)
= §0 - YO (3)
= 100 ©
(Total for Question 14 is 4 marks)
(. /
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15 Carpet tiles are going to be used to cover a floor.

The floor is a 1200mm by 1000mm rectangle.
Each carpet tile is a 40cm by 30cm rectangle.

Exactly 10 carpet tiles can be used to cover the floor completely.

Show in a labelled sketch how this can be done.

1200 mm =1(20 cm 1000 rmm =
Gocem Gowmn Goem
Qoem
Rolm
Locm

30cm 30tm ZBocm Io0em
E—— 0w —m—

|00 cm

&——J00ocm

(Total for Question 15 is 3 marks)

J
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16 Sam buys 20 boxes of oranges.
There are 25 oranges in each box.

Each boxes of oranges costs £7

Sam sells 2/5 of the oranges he bought.
He sells each of these oranges for 40p.

He then sells each of the remaining oranges at 3 oranges for 50p.

Did Sam make a profit or did Sam make a loss?
You must show working to justify your answer.

Toled Oraryes 'aouolvf‘ —» 20 X225 =500
Monsy SRt —S 20 s g5 = £140

Sold /s o-{- SO0 ofangus —s 200
2006 X €0.40 = €¥0 made .
pma\mw:/ SOO O(‘qw SOIJ in S,S - 3?°°=IOO 5«1‘(,*_,;
100 X €0-S0O = ¢SO mdr.
Toltd madt. = € 8o t+€SO = €30
Mones sewt = Elko

Profik —w made — spnkt 3 €130 - €10 = - €10

——
———

Nesa.l'\'ﬂ onswer SO Sam made loss of €10

(Total for Question 16 is 5 marks)
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17 100 students had some homework.

42 of these students are boys.
8 of the 100 students did not do their homework.
53 of the girls did do their homework.

(a) Use this information to complete the frequency tree.

did do homework

boys

did not do
homework

did do homework

[00-42 =5y did not do

homework

One of the girls is chosen at random.

(b) Work out the probability that this girl did not do her homework.

S 5ifls onk of SY didut
S/5%

(Total for Question 17 is 5 marks)

S
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18 (a) Work out 2/7 + 1/5

Sx) =3S whith is LM So Uus as Common Anominakvr «

T “x7 2
7 3Ss s 3s
\‘/ \_2

XS by

(b) Work out 1 2/3 + 3/4

L . 3
ey

—

s

2z 3,2 _5S
5 — F+3 =3

s == 3 Y
z Ty T FX

—
—

d
3

BE

o L2 =7
35 T3 3%

35

(2)

2.0
a-

)

(Total for Question 18 is 4 marks)

19 Solve 4x + 5 =x + 26
4x +S =X 126
3x +5 =16
3x =21
x =)

———
———

x= A

(Total for Question 19 is 2 marks)

B Pearson Edexcel Level |/Level 2 GCSE (9-1) in Mathematics - Sample Assessment Materials (SAMs) - Issue 2 - June
2015 © Pearson Education Limited 2015

YIAV SIHLNIF LGN 1TON- O VAIV-SIHL NEFLIGM LON-Od

YAV SIHL NE LM LON Od



DO NOT WRITE IN:THIS AREA

DONOTWRITEINTHISAREA

DO NOEWRITEIN THIS AREA

PhysicsAndMathsTutor.com

20 In a sale, normal prices are reduced by 20%.
The normal price of a coat is reduced by £15
Work out the normal price of the coat.

-2 C('S = 20N v—:—"-

£7-8¢ = 10N
x/0, D X0
€ 78 = JOO *\

£S5

(Total for Question 20 is 2 marks)

21 Work out 6.34 x 5.2

6-340
X s.200

0.00%
0.060
l« 200

O-200
| « SO0

230.000
32.96¢%¢

—

32 .96%

(Total for Question 21 is 3 marks)

. /
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22 Expand and simplify (m + 7)(m + 3)

(M-l-’)} (m -1-33
Mt +10m +7]

_—
m=+10m +21
(Total for Question 22 is 2 marks)
23

A E

38°
D | B G

X |

38°

C F

AE, DBG and CF are parallel.
DA=DB=DC.
Angle EAB = angle BCF = 38°

Work out the size of the angle marked x.
You must show your working.

£ABD =3F° and LCRD =3T° Lecavse allunat ayles Cguef
Z DAR =T ond (DCB= 3F° Licause san anles <quad in isoceles -
< AOR =L (DR =1FO - 2@RY)

=180~
= 104°

Anmls around & point aclcl & 360°

3 = 360 —2010%)
=30 —10°7

=152°
—

IS

(Total for Question 23 is 3 marks)
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24 Gary drove from London to Sheffield.
It took him 3 hours at an average speed of 80km/h.

Lyn drove from London to Sheffield. D
She took 5 hours.

Assuming that Lyn S T
drove along the same roads as Gary ‘
and did not take a break,

(a) work out Lyn’s average speed from London to Sheffield.

S peed = i"'_w““a Di§ lenee = Sﬂ,ud X Ein<
e

Gy cdistentg = Yox3I =240 km
L'.dl\ specel — }%) =q_rkml|\

(b) If Lyn did not drive along the same roads as Gary, explain how this could affect your
answer to part (a).

distanet ko Gary  so kS agviage spetdd \venld by oLippret

1)

(Total for Question 24 is 4 marks)

J
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25 In a company, the ratio of the number of men to the number of women is 3:2

40% of the men are under the age of 25
10% of the women are under the age of 25

What percentage of all the people in the company are under the age of 25?
Toled paEs = 2L+ =S

Gol- of m > oux3=12 /> | H+0.2= (4
10 A= of womn > 0. x2L=0.2

l"’f = _’_L PR ZX°\‘

%

(Total for Question 25 is 4 marks)
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26 The plan, front elevation and side elevation of a solid prism are drawn on a centimetre

grid.

plan

front elevation

side

elevafion

In the space below, draw a sketch of the solid prism.
Write the dimensions of the prism on your sketch.

(Total

for Question 26 is 2 marks)

vy
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27 There are 1200 students at a school.

Kate is helping to organise a party.
She is going to order pizza.

Kate takes a sample of 60 of the students at the school.
She asks each student to tell her one type of pizza they want.

The table shows information about her results.

Pizza Number of students
ham 20
salami 15
vegetarian 8
margarita 17

Work out how much ham pizza Kate should order.
Write down any assumption you make and explain how this could affect your answer.

% waked ham piZzo =1[3

/3 x1200 = Yoo hawm pizzas
=

(Total for Question 27 is 3 marks)
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28 Here is a parallelogram.

(2x + 43)°

(5x - 20)

Work out the value of x and the value of y.
Cx =10 = 2= + 43  Lbecauwe OWOS(’& angles ot pﬂd:il%m""‘
e = 63 A -
X =72

Arqus on Sowe Tk add kv 1go°

(S>e-20) + (45 -59) = 1 RO°

(ios —20) 4—@-:;—403) 150 °
RS +4y —10S = 1YO

L""D = L0OO
\3 = SOO

1

(Total for Question 28 is 5 marks)

/

Pearson Edexcel Level |/Level 2 GCSE (9-1) in Mathematics - Sample Assessment Materials (SAMs) - Issue 2 - June 2015
© Pearson Education Limited 2015



PhysicsAndMathsTutor.com

VAUV STHL NEZLSM LON OG-

g
29
y4
5
4
| A
2 /
‘l’ ~
2
|
T
—54—3—2—1o|12345§
-1
| B
_2 \
| \
-3
I
i
-5
Describe fully the single transformation that maps triangle A onto triangle B.
Rotetion 90° codewise abont (0,0)
(Total for Question 29 is 2 marks)
30 a= b
-7 2
Work out b — 2a as a column vector.
(5)-2(3) =(4)-(5) = (i
2 = )~ (=)&) T |16
-1
<
(Total for Question 30 is 2 marks)
TOTAL FOR PAPER IS 80 MARKS
.
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